Review Exercises (poge 2

. . ,
- : I Cm-; M ; (] (o)

X | v i d 3

IL (xxx2) L {mxx-1}) 1% (da >0} W {aued) W {1ae -3 ;

1) = 2x + 3 Domain: all real nembens W (f + gila} = 41, Domau
< ~d4x + |: Domain: all real sumben (f = gi(x) = =2 Doman all ye
= ~32) + $x + 2 Domam. all real numbens

y
- ]

oo -} (o3




‘RS vie
AN40 ANSWERS Re
i x \bers
!+ 4x I‘l)nm;un'uliru.ul pun ber
B - fi: ' 2x + l:l)unmin:nl] real num }.:.'H
e ;’-“‘ 11-" 4 h;Dnmnin:ull real number:
(f+g)(x) =90+ :
! ] ‘) W+ x? t-: Dcmmin:{x'.x # 0}
<\£ (x) "
2 U )(x) 'li s s -i-:Domnin: {x|x # 0,1}
o 2)(

r{_l- - 1)

e+ 1 pomain: {xlv # 0 1}
-1

. £0.1)
(f - g)x) = . Domain: {]¥ 0
(f - g}(x) - 1)
L‘f')(vl’} = Sl l—):Dnmaln: {x]x # 0,1}
] X - -
2 f‘“ +1-2h Mox-27 3h 25 () Domain: {

@®
@ {xo<x=3) O

26. (a) Domain: {x|=5 = x = -1}.R;|l11!03{."|'-" sysl} ® 1
(g

-s5=x<0} (D ¥
(e) {x| X AL

27. (a) Domain; {x[-4 = x = 4} or [(—4,4]

Range: {y/-3 =y = 1}or[-3,1]

(b) Increasing on (=4, -1) and (3.4);
Decreasing on (—1, 3)

(¢) Local maximum is | and occurs at x = —1;
Local minimum is —3 and occurs at x = 3

(d) No symmetry

(e) Neither
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28, (a) Domain: all real numbers or ( —o0, 00)

Range: all real numbers or (—o0, oc)

(b) Increasing on (—o0,—2) and (2, c0);
Decreasing on (-2, 2)

(¢) Local maximum is 1 and occurs at x = ~2;
Local minimum is —1 and occurs at x = 2

(d) Origin

(e) Odd

() x-intercepts: -3, 0, 3; y-intercept: 0

29, Odd 30. Even 3L Even 32 Neither 33, Neither 34. Neither 35. Qdd 36. Odd
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Decreasing: (~091, 0. ) : Increash}g: (~1,1) Increasin .(ﬁ 34 0..41‘}:(1.&3.3)
Decreasing: (~3,~1y; (1, 3 Decreasingg.: (—é —0.34); (041, 1.80)




atercepts: (—4,0), (4,0),(0, -4)
pomain: all real numbers
Range: {yly = —4} or [-4, 00)

Intercept: (1,0)
Domain: {x|x = 1} or [1, c0)
Range: {y|y = 0} or [0, 00)

Imercept; (0,3)
Domain: al} real numbers

Range; y=z2)or [2,00)
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Intercept: (0, 4)
Domain: all real numbers
Range: {y|y = 4} or [4, )
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Intercepts: (0, ~1),(1,0)
Domain: {x|x = 0} or [0, )
Range: {y|y = =1} or {1, o0)

5 Local maxima: (~0.59, 4.62); (2,3)
i \ Localminimum:(O.M. 0.92)
1 Incrcasing: (=2, =0.59); (0.84,2)
Decrcasing: (=0.59, 0.84); (2, 3)
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Intercept: (0,0)
Domain: all real numbers
Range: {y|ly = 0} or (—0,0]
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_lxiltk;J;Ji-"
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Intercepts: (0, 1), (1,0)
Domain: {x| x = 1} or (~00,1]
Range: {yly = 0} or [0, c0)

Intercepts: (-2 — V/3,0),
(-2 + Vv3,0),(0,1)

Domain: all real numbers
Range: {yly = =3} or [-3, 0)
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Intercepts: (0, -2},
(1435

1+ —_9,0) or about (0.3, 0)

3
Domain: all real numbers
Range: all real numbers

Intercept: (0, 0)
Domain: all real numbers
Range: {y|y = 0} or [0, 00)
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Intercepts: (-3, 0), (0, - V3)
Domain: {x|x = =3} or[~3, 00)
Range: {y]y = 0} or (—cc,0]

Intercepts: (0, —24),
(-2 + ¥/~4,0) or about

(—3.6,0)
Domain: all real numbers
Range: all real numbers
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65. (a) {x|x = —4};[~4,00)
(b) (0,1)

(c)
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o —3}: (-3, 00)
xlx > =317
63. (a) {x|x > —2};(-2,0) 64. (a) {x| 0y
() (0,0) ® (0.-1).{30)
(c) (¢)
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L
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(—2, ~6)

@ {yly > ~6); (~6,0) @ {yly > ~4p(74.0)

71. T(h) = —0.0025h + 30,0 = x <10,000 72. 130 ft/sec; v(1) = 5t =20

73. V(S§) = gv'é: If the surface area doubles, the volume increases by a factor of 2v2.

74. (a) A(x) =
@ 100 (e) A{x) = 70 when x = 0.65in.;
A(x) = S0when x = 128 in.
0 3
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75 S(x) = kx(36 — x*)*% Domain: {0 < x < 6}

7. (a) A= 2mr + 2—‘? (b) 123.22sqft

(c) 150.53sqft (d) 197.08sqft
(e) Aissmallest when r = 2.52 ft,

(0) $29.13
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Cumulative Review (pgge 290)

{ v} = 7r +
66. (a) {x|x = -2}:[-2,00) (b) (0,0) 67. f(x) “1.
(c) y (@) {vly = 0}:[0,00) 68. g(x) = ~4x
'9 69. A =11
70. A=8
(=2,4)
-3 -1

. @ C(r) = 0272 + 2 ) 51603
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{d) The cost is least for r ~ 3.76 cm.
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(85 - 2x)(11 — 2x) (b)) 0=2x=4250=A=935 (c) A(1) = 58.5in% A(1.2) = 52.46in, A(LS5) = 44in’
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